EARAROBEEIERT — 2 N— IBISH —F

201651 H228 (£) 22@&&HESH

Ml S C44 C4 4¥5%—M (xwlw | lmEmml - |5 5) wom 8
[AE4£] 1% :160,000  ~ 2#&:29,000 M  3#&:11,000M”  437%&:8,00H ~ 5%&:0H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- BREXE :31. -1-1- . — MeTRE (BHE)
i l5l5 | F1TLxy /4~ B4 nE 1(3_1)4 1-1-1-1 | 40.0 1 g;) ferE
RFLIIVR BFATILYIREI AE7 1 I LS
=N ft 5 | FEHREE 1:33.9 3-2-3-2 |42.3| — 3 487 | EhERN (BHE)
2|8|g| IV LA L=/=2 54.0 (514 ) | B Tr—xbEVa
R:xA21=G7—X B:U759y>¥—v—Avy b i EE
. N AT : -4-4- — AHEE (BHE)
) 6| FHROFILY it 4 Rihise 1.(324>.3 4-4-4-4 | 42.5 2 (4_623) iR
L:OyawAny BAYTILHYY— BEE f5—
- =5 o 4 5 | AMUFETT 1:34.6 2-3-2-3 | 42.9| — 4 421 | FIUEE (BHE)
41111 A TIWN—=FT—> 54.0 (1 1/2) ) ﬂzfﬂ]il——
X THANAN BiXATLAR el
R . 46 | DNEEFIME 1:34.7 6-6-6-5 |42.0| — 6 446 | TIOBA] (BEHE)
5172|71772>7v7 56.0 (3/8) 4e) | B k=257
RirqN=hrhU— B:3I% HREFHESS
— s HEFBER :35. —-8-8- . — HEE (BHE)
6 2 Sy P e= iy 8% % 7 il 1(355)4 8-8-8-8 | 41.5 5 (3_821) P,
b4y B:T7xT7R-FK BORYOS
N . HEED . 77 — g (5542)
7 NPEVESZ VRV it 6 AR 1.(336).0 7-71-7-7 | 42.7 8 (4&0) i *72;7
oxALIZTyr—2R B:oavFrrIdFr ZHKE
. > 5| ALE— 1:36.9 5-5-5-6 | 44.3| — 7 454 | FILUEGE (BHE)
8 3 FHA b - 56.0 (4) +2) Xfﬂ]il——
X7 T—R VXTI T—F B:TFRLAL Nt
@ 1—F—@&BIEf
13=zr= 5,1,8,6,3,7,4,2
20—7— 5,8,1,6,3,7,4,2
BEE 5,1,8,6,3,7,4,2
43—+ — 5,8,1,6,7,3,4,2
[ RN
B OB 5 1204 714K 5-8 120H B E 5-8 410M &R 5-6-8 220M
8 B 5 100M 5-6 100F B H 5-8 330 K31 5-8-6 610
8 1204 6-8 210
6 1204

ABICOVWTRDTEEERROODE. TR LIV,




